                                               AGE-RELATED

                                                    EXPECTATIONS

	ADDITION  


	TU + TU

(bridging 100)

HTU + TU

(not bridging 1000)

HTU + HTU

(not bridging 1000)
	Number line

57 + 285 = 342  

                      +50

                                        +7

                                         


          285                  335      342
	No number line

57 + 285 

  285 + 50 = 335

  335 +   7 = 342 

     
	Partitioning

57 + 285

200 +   0 = 200

  80 + 50 = 130

    5 +   7 =   12


	Expanded vertical

    336 + 87 = 423

    300  (  30   (   6

+                80  (   7

____________________ 

    300  ( 110  ( 13  =423
	Expanded vertical

            336

        +    87

              13

            110

            300

          
            423


	Bonds to 20 / 100

Pairs of two-digit multiples of 10

Multiples of 50 that total 1000
	TU + U / TU

TU + near multiple of 10

	
	
	
	
	
	
	
	
	

	SUBTRACTION    


	TU – TU

HTU – TU

HTU – HTU

	Number line – counting on         
141 - 89 = 52

                                                 +41

                       +11                       
                                                          


                89          100                               141 
	Number line - taking away
326 – 78 = 248                                     

                                                         -70

                                  -8      
                   

                          248        256                            326

Vertical number line may be used to record calculation
	Partitioning

326 - 78

326 -    70 = 256

256 -      6 = 250

250 -      2 = 248


	Decomposition - expanded

272 – 48 = 224 

                  60

    200  (   70  (   2

-                 40  (   8 

    200   (  20  (  4   = 224

	Subtraction facts to 20

Differences of multiples of 10
	TU – U / TU

HTU – HTU

(by finding the difference)

TU – near multiple of 10 (positive answers)

	
	
	
	
	
	
	
	

	MULTIPLICATION


	TU x U

(eg 13 x 4)


	Arrays


13 x 4                                                                                     

10 x 4 = 40

  3 x 4 = 12                               [ref Arrays spreadsheet]
	Expanded grid method 

13 x 4



	Compact grid method

13 x 4

           


	Partitioning

(possible use of number line to record steps)

13 x 4 = 52

10 x 4 = 40

  3 x 4 = 12

        
	Derive / recall 2, 3, 4, 5, 6 and 10 times tables

(Derive related division facts)

Recognise multiples of 2, 5 and 10 up to 1000
	U / TU x 10 / 100 (describe the effect)

Doubles of TU / HTU numbers

	
	
	
	
	
	
	
	

	DIVISION
	TU ( U

(where divisor is 2, 3, 4, 5, 6 or 10)

Round remainders up / down, depending on the context
	Number lines (start from zero)

33 ( 5 = 6 r3


                   0              5             10           15            20           25            30      33
	Partitioning (multiples of the divisor)

50 ( 4 = 12 r2

10 x 4 = 40

  2 x 4 =   8      (48)

  [ref Number dials ITP]


	Partitioning - Informal recording in Year 3 for 84 ÷ 7 might be:

[image: image1.png]84
70 + 14

10 + 2 =12




	Derive / recall ( facts for 2, 3, 4, 5, 6 and 10 tables

Derive / recall halves of even numbers to 40
	TU / HTU ( 2

	
	
	
	
	
	
	


  Rapid Recall





  Mental Calculation
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